
Can you name one technique
Copy Candidates:
.----------------.------------.---------------.
| 15  57    17   | 8   2   3  | 9    4    6   |
| 2   46    3    | 46  5   9  | 1    7    8   |
| 46  8     9    | 1   46  7  | 5    23   23  |
:----------------+------------+---------------:
| 7   9     2    | 46  1   5  | 346  8    34  |
| 8   3     46   | 9   7   2  | 46   5    1   |
| 46  1     5    | 3   46  8  | 2    9    7   |
:----------------+------------+---------------:
| 15  26    8    | 57  3   14 | 47   26   9   |
| 3   2457  147  | 57  9   6  | 8    12   245 |
| 9   4567  1467 | 2   8   14 | 347  136  345 |
'----------------'------------'---------------'

U-Twins 4 fromr7c7
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Can you name one technique
Starting from r7c7:
Cycle 1: 

r7c7; r9c6; r4c9; r6c5; r2c4; r3c1; r5c3; r8c2.
Cycle 2:

r7c6; r4c4; r5c7; r6c1; r3c5; r2c2
Four cells belong to cycle 2 and make  U-Twins.
So all cells of cycle 2 contain solved digit.
Conclusion: cycle 2 = 4.
And the result is followed:

Copy Candidates:
.---------------.----------.--------------.
| 15  57   17   | 8   2  3 | 9   4    6   |
| 2   4    3    | 6   5  9 | 1   7    8   |
| 6   8    9    | 1   4  7 | 5   23   23  |
:---------------+----------+--------------:
| 7   9    2    | 4   1  5 | 36  8    3   |
| 8   3    6    | 9   7  2 | 4   5    1   |
| 4   1    5    | 3   6  8 | 2   9    7   |
:---------------+----------+--------------:
| 15  26   8    | 57  3  4 | 7   26   9   |
| 3   257  147  | 57  9  6 | 8   12   245 |
| 9   567  1467 | 2   8  1 | 37  136  345 |
'---------------'----------'--------------'
The game will be solved with easy techniques.
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